# AGREEMENT FORM FOR NON-CANDIDATE/ISSUE ADVERTISEMENTS

Station and Lo	ocation:			Date:			
KODA-FM		Hon	XT, dot2	8-	8-9-18		
I, Matthew Fels do hereby request stat	ion time concerning	the following issue	:				
Harris County bor	nd election - August	25, 2018	·				
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks		
See A	Hachel						
This broadcast time wi	ill be used by:						
Fight Flooding PAC							

# THIS PAGE MUST BE COMPLETED FOR PROGRAMMING THAT DOES NOT "COMMUNICATE A POLITICAL MATTER OF NATIONAL IMPORTANCE"

I represent that the payment for the above described broadcast time has been furnished by (name and address):

Fight Flooding PAC
609 Main Street 40th Floor
Houston, TX 77002

and you are authorized to announce the time as paid for by such person or entity (hereinafter referred to as the "sponsor").

List the chief executive officers or members of the executive committee or the board of directors below (or attach separately):

Auggie Campbell, treasurer

# THIS PAGE MUST BE COMPLETED FOR PROGRAMMING THAT "COMMUNICATES A POLITICAL MATTER OF NATIONAL IMPORTANCE." FOR ALL OTHER ISSUE ADS, PLEASE GO TO PAGE 3

Programming that "communicates a political matter of national importance" includes (1) references to legally qualified candidates (presidential, vice presidential or congressional); (2) any election to Federal office (e.g., any references to "our next senator", "our person in Washington" or "the President"); and (3) a national legislative issue of public importance (e.g., Affordable Care Act, revising the IRS tax code, federal gun control or any federal legislation).

Does the programming (in whole relating to any political ma	or in part) communicate "a mes atter of national importance?"	ssage
☐ YES	l NO	
For programming that "communicates a message relating national importance," list the name of the legally qualified refers to, the offices being sought, the date(s) of the election which the communication refers (if applicable):	ed candidate(s) the programming	
I represent that the payment for the above described broaby (name and address):	padcast time has been furnished	
and you are authorized to announce the time as paid for later (hereinafter referred to as the "sponsor").	by such person or entity	,
List the chief executive officers or members of the execudirectors below (or attach separately):	utive committee or the board of	
		•

For programming that "communicates a message relating to any political matter of national importance," attach Agreed Upon Schedule (Page 5)

### TO BE COMPLETED FOR ALL ISSUE ADVERTISEMENTS

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

liability, including reasonable attorney above-requested advertisement(s). For also agrees to prepare a script, transcript station at least before the	y's fees, that may ensue from the broad or the above-stated broadcast(s), the s ript, or tape, which will be delivered to	adcast of the ponsor					
	ED BY ISSUE ADVERTIS	ER (SPONSOR)					
8/6/18 Date  8/6/18 Signature							
TO BE SI	GNED BY STATION REPR	SENTATIVE					
Accepted	☐ Accepted in Part	☐ Rejected					
Roll Waller Signature	Rod Windham Printed Name	Direct Political Silver					



Judge Ed Emmett - Fight Flooding Chairman

The Fight Flooding PAC is a group of Harris County businesses, organizations, and individuals who have come together to support the August 25th passage of Proposition A because now is the time to address Harris County's flood problem.

Get Involved

# Judge Ed Emmett discusses Prop A and why it's vital for Harris County

0:00 / 0:49

# Our Key Supporters

Nancy & Richard Kinder

### **Jacobs Engineering**

### Silver Eagle Distributors

Allen Boone Humphries Robinson LLP

### **AECOM**

**Houston Contractors Association** 

**Greater Houston Builders Association** 

Larry Johnson - Johnson Development Company

American Council of Engineering Companies

## OUR SUPPORTERS

# Prop A Endorsements

# The Eppstein Group time buy order NEW ADDRESS: 2830 S Hulen St #361 Fort Worth, TX 76109 (817) 7-37 - 3656 9 7 2 9 - 6 - 6 - 6 - 7 2

KODA ("Sunny" 99.1 FM, adult contemporary) iHeart Media

08-Aug-18

2000 W Loop S, Ste 300 Houston, TX 77027

Rod Windham

FIGHT FLOODING PAC

609 Main Street 40th Floor Houston, TX 77002 Auggie Campbell, treasurer

		_	<del>,</del>	····	·						
		52	-								
		24									
	£	-									
	We	_							,		
	2	_									
	Mo			and the second second							
	Sī	_									
	Sa	_									
	亡	_	က	ო							
=	듣	-	m	ო							
ממטכות	We	-									
E G	그	-	က	က							
<u>g</u>	Mo	13	8	ო							
Auggre Campbell, neasurer		Class						:		=	
		Rate	585.00	35.00							
			"								
Ę	=						-				
modern with a modern who are a second and a second a second and a second a second and a second a second and a	dula.c.										
mproc											
di@m	2 3) 1	o)									
, door		Day and time	M-F 6-10a	3-7p							
Š	3	Day	M-F	₹							
7 7	<u>r</u>										
712-80	3		drive	on drive							
(713) 212-8014	2	Name	morning drive	affernoc	·					остопо от постопо от п	
-		_	:30	8							
		•				•		•	1	•	

Traffic: FFPR180130 "One Year Anniversary Radio" 100% TFN

Total gross Commission net

\$14,640.00 -2,196.00 \$12,444.00



**Order Confirmation** 

Fight Flooding PAC c/o The Eppstein Group Attn: 2830 S Hulen St # 361

Fort Worth, TX 76109

Advertiser No: Start Date: End Date:

727407 08/13/2018 08/17/2018 Broadcast

Month Type: Entered: Last Update: Spl Req Inv:

08/09/2018 02:50 PM by Fusion 08/09/2018 02:53 PM by JToledo

AE: Note: Note 2: WINDHAM, ROD

Page 1 of 3 Printed: 08/09/2018 16:33:42

Order No:

1318703904

Contract/Code #: Co-op:

No

Package: CPE:

No

Revision #: Agency Comm.:

0 15%

Cash In Advance: Yes

Market Station	Bind To	Start Date	End Date	Of	On Air S W. I	Sch Days	Skip W.		T	w	' Т	F	s	s	oots/ W.	Copy Group	Spot Len.	Priority Revenue Ty	Rate pe	Ord. Spots	Ord. Cost
1 Houston KODA-FM	06:00-10:00 Commercial	08/13/18	08/13/18	1	1	1	0	х							 3	1463030 18/FightFloodingPAC/30	30	75 Local Agency	585.00	3	1,755.00
2 Houston KODA-FM	15:00-19:00 Commercial	08/13/18	08/13/18	1	1	1	0	Х							3	1463030 18/FightFloodingPAC/30	30		635.00	3	1,905.00
3 Houston KODA-FM	06:00-10:00 Commercial	08/14/18	08/14/18	1	1	1	0		X						3	1463030 18/FightFloodingPAC/30	30	75 Local Agency	585.00	3	1,755.00
4 Houston KODA-FM	15:00-19:00 Commercial	08/14/18	08/14/18	1	1	1	0		X						3	1463030 18/FightFloodingPAC/30	30	• .	635.00	3	1,905.00
5 Houston KODA-FM	06:00-10:00 Commercial	08/16/18	08/16/18	1	1	1	0				Х				3	1463030 18/FightFloodingPAC/30	30	75 Local Agency-	585.00	3	1,755.00
6 Houston KODA-FM	15:00-19:00 Commercial	08/16/18	08/16/18	1	1	1	0				Х				3	1463030 18/FightFloodingPAC/30	30	75 Local Agency-	635.00	3	1,905.00
7 Houston KODA-FM	06:00-10:00 Commercial	08/17/18	08/17/18	1	1	1	0					х			3	1463030 18/FightFloodingPAC/30	30	75 Local Agency-	585.00	3	1,755.00
8 Houston KODA-FM	15:00-19:00 Commercial	08/17/18	08/17/18	1	1	1	0					х			3	1463030 18/FightFloodingPAC/30	30	75 Local Agency-	635.00	3	1,905.00



Page 2 of 3 Printed: 08/09/2018 16:33:42

Order No: 1318703904

No. of Spots/Misc/Digital: 24/0/0

Ordered Gross: Agency Commission: \$14,640.00 \$2,196.00

Ordered Net: Total Net Due: \$12,444.00 \$12,444.00

	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar	Apr	May	Jun	Jul	Aug
Amount Ord:	24	0	0	0	0	0	0	0	0	0	0	0	0
Gross:	14,640.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Net:	12,444.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00

When signed below, this is a contract for advertising on the radio stations named above, made with the owner of those stations, subject to those terms and conditions beginning on the last page of this Order Confirmation. Except when this contract is executed by advertiser itself, it is agreed that advertiser's agency makes this contract both for itself and advertiser.

							***************************************
Accepted for Company:		Accepted	for Advertiser:			-	
Participating Customers Fight Flooding PAC	100%						
Spot Rotation Spot Title		Spot ID	Cart No	Length	Duration		Rotation
COPY GROUP: 18/FightFloodingPAC/	30	1/63030		-ongu	Duration		Rotation